. Exam\ng; 1

. Given

quf concrere block shown

2
B cpieiere =150 b /g
Re la,él :

Examp1€5

IV)(-evV\a l

FO yces

C3-D)

cc specific weightn

The mkeyv;q{ Covces abk & \ovizontal

_Sechion  taken hk,{:laiquj\aw _pswmt O

In the £8D shown,

12001 }ib

U = N = (50 (2 x1X1.5)
= Y4so b
C;ralm_f C)n’ul»{nm ,, I
;/ 3 F;: zo o 2Aoo 4 2
'qo(:(\“o’ /™ 200 ¢ <ib)
¥
! }\/
D> F A,;_v.\lxw_ z-200lb = 200 b A (\:\
EoA
S by z0 = ~Yoo 4 Fy 1J,z 2
/"JAF;
-
Ay Py R My
1 56 20 =45 E, =0 Y Y *y
Z R y, W = 450 1b

__,_..:§‘_,._m,,5 .._,:WA 7= JL50~JL, 1.

DY IM, z0 = Hoo(2)+ M,

) 5M5/n = 2002y +. Msﬁ D

*3 M 229 = ~200(2.15) = 400 (0:5) + Mz

M, = - 800 Fedb |

Mu = -400
o1

fe.lb

>

= LC;V\J «',ns yaoynent
= la,cv\.;l'qu vrovieul

&< L,w.'s,le,iua, vomeul

Note that in +this 3-0 loyob[f_m, scalax qmalnsi; is wuch easier than veckoy tmqlgs.s.

’["3 the  Uectar omaln;is 3ouyst’i(f-



O
5

; E:ram’oie 2.

Given :
The pipe assenbly shown
Weiﬂw is vxeS\Ec‘:eof-
,Recf,(l.:
The intevnal fovces at a vey Feeal seckion thyough €
Solin.:
1) Scalay Analysis
‘ In the FBD shown,
Shozo = E-262) > £\ =10

X

ZF‘g = oo 2} EJC:A::O

< 1] 4 <
ZF=o= %-80-2“,—3) = g :\/3 = 104 1b

ZMZ oz My -30-80C2) -1;(%)(2)

3 | M, =238 1b-fe CRHR used?

30 lb.t

Sthyzoz My +26(50(3) 3 | M =-72 lbfe

Mz z0=M3426(E)2 B | M =-20 lb.fe

. @ Nectaor Ay\a(\asis

‘1.
8ok 26(-2y7 —5]4'—,— o0 0] s lod® b
> [- O/z]+[~i(£jl -26(73 YK £ o | K =[toiwolsiq@ ]

2 Mg -30( 4+ o 2 o |+ 3 2 o =0

© o 80 - 1o -29

M. - 30 ? +.(-160 :‘) -+ (— Hg ?-(—72)? —C—lu)Z):Z
-

S M 4 (-390 -160 48T + (TLD) 4 (20Ry =3 =

0

- > - -
M, =238 -725 -20k Ubf)




